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DATE Nt 215 A7 xf 848 F ikt
1 128148(1) HwEAE R ET /N fhETZI= @ 25 vs 27 T2
2 1B48(L) HEHE A ET/N {fhETE= O 18 vs 16 +=2 2Q
3 2R158(1) HwEAE BT/ fhET=E= O 32 vs 22 hE
4 EAWIEIR- =S NS fhETE = O 42 vs 19 +4&
28228(*= 7N
5 ABPEE ewprom xzs N |gErz= o 44 v 28 EB
6 ,goam(m) L UbRUEsLEmi= s FAFUAE | METS= @ 28 vs 64 5
7 R—LEFRR (5¢§Bﬂ<®%ﬂ) IERLRTE $7IJ —F 1¢EHTE: . 40 VS 45 J%‘T_?%
8 HETI= @ 41 vs 42
8 30 s ’jEIé }\
9 A308(8) wE Kb/ METZE= O 37 vs 30 T2
10 fhET== O 81 vs 8 R
9 6 hips ’jEIé R
11 A6R(R) L R HhET== 1O 35 vs 31 A
12 fhET== O 37 wvs 30
9 19 1 ’jEIé }\
13 A198(xL) wE Kb/ METE— O 49 s 36 Ta&
14 9F218(A) ~BERUI2ART Y b TEFR |[fHErT== O 38 vs 34 tE
15 R—ILE ) — T AE KRB TS @ 5 vs 65 =H
16 fHETZ=- @ 16 vs 32 A
10 4 hips ’jEIé R
17 A4R(R) wa R fhErT== O 31 vs 28 A
18 fHETZI=- @ 26 vs 38
11 22 1 ’jEIé }\
g 1A228(R) s ABEN legr=— @ 31 vs 38 15 3
20 BEEUIONR Ty hR—LAS . HET==Z @ 4 vs 28 AV =-$s
21 1A23a(A) (FLyZaxs) LR HhETS= @ 6 vs 35 B
22 fhET== O 30 vs 13
23 118298(RH) SV EEHIRRAE AEREE | HITZ=- @ 2 vs 20 & BE#;2Q
24 fhET=E= O 47 vs 20
25 fHETZI= @ 14 vs 51 T&
26 HET== @ 8 vs 39 B R-F-R
12 13 s ’jEIé A
g7 12R13R(E) RE AN == @ 6 v 55 & F-R-F
28 fhETZ=- @ 19 vs 32 A




